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aici FECE LAY FEE LA FR FRFEI A FHURR Hz | BRES B
1 081700 e TRESHEAR 4 H il hiji M= | 69.79
2 081700 e THREEA 4 H il il 1 TR | 71.31
3 081700 e TRESHEAR 4 H il hiji WAREE | 71.55
4 081700 2 THRESHEAR E=kiil fis +- LIRIY 71.67
5 081700 2 TREEHEA E=kiil fii +- IELG] 72.09
6 081700 e TRESHEAR 4 H il hiji JkyEEk | 72.18
7 081700 e THREHEAR 4= H il fyi 1 ] 72.53
8 081700 e THREHEAR E=kiil fiid 1 EE Y 73.07
9 081700 e TRESHEA 4= H il il 1 Tk F 73. 22
10 081700 e TRESHEA 4= H il fiji -+ Tk 4ETR 73. 26
11 081700 e THREEAR 4= H il fi -+ R 73.75
12 081700 e TRESHEA 4= H il fiji -+ TRk 74. 49
13 081700 e TRESHEA 2= H il fiji -+ T HH 74.71
14 081700 % TRESHEA 2= H il fiji -+ AR 93. 4
15 081700 e TREHEAR 4= H il JERE S AR 70. 1
16 081700 e TRESHEA 4= H il HIHAE ST 70. 13
17 081700 e TRESHEA 4= H il HIHAE K = [ 71.11
18 081700 e TRESHEA 4= H il HIHAE X7 e 71.88
19 081700 e TREEA 4 [ il H A TR 72.76
20 081700 e TREEA 4 [ il B HEJY |  73.55
21 081700 e TREEA 4 [ il H A fifi 5 2R 78. 12
22 082200 BITHASTE 2= H il fisi -+ H 5/ 65. 23
23 082200 BITHASTE 4 H ] fisi -+ 2= )l 66. 36
24 082200 BRITHASTHE 2= H il fisi -+ P E 66. 47
25 082200 BRITHASTHE 2= H il fisi -+ Xl H 66. 81




26 082200 BRITHASTHE 2= H il fisi -+ X1 0] 66. 91
27 082200 BRITHASTE 2= H il fisi -+ B 67. 1
28 082200 BRITHASTHE 2= H il fit -+ JE T 67.3
29 082200 BRITHASTE 2= H il fisit: W H 67.74
30 082200 BTIHASTE 4= H il fifi -+ HOEHL | 68.86
31 082200 BRTIHASTE 4= H il fit -+ KR 90. 5
32 083600 VTR 2= H il fisi -+ IS 12 ) 69. 04
33 083600 VTR 2= H il fisi 1 A 69. 7
34 083600 VTR 2= H il fisi -+ ELiLhG 70. 1
35 083600 Y TR 4= H il fiji 1 fif 7 K 70. 47
36 083600 LY TR 2= H il fijl 1 THER 70. 49
37 083600 VTR 2= H il fijl 1 i — 70. 58
38 083600 LY TR 2= H il fijl 1 AT 70. 76
39 083600 VTR 2= H il fijl 1 15 B 70. 94
40 083600 AP TR 2= H il fiji TKE K 70. 99
41 083600 AP TR 2= H il fiji F k¥ 71. 49
42 083600 VTR 4= H il fiji+ I 71.54
43 083600 AP TR 2= H il fiji EE 72.18
44 083600 AP TR 2= H il fiji XI5 72. 43
45 083600 AP TR 2= H il fiji KA 72.57
46 083600 AW T RE 2= H il fiji - TR 74.04
47 083600 TR 4= H il fiji -+ N 75. 18
48 083600 AW T RE 2= H il fiji - TR R 80

49 083600 AW T RE 2= H il fiji - ZEIhe i 84.6
50 083600 YRR 4= H il fiji -+ X AT 89. 2
51 083600 A TR 4= H il fiji 1 W =4 90

52 083600 AW T RE 2= H il fisi + VYRR 91




53 083600 VTR 2= H il fit -+ Ml—2 92. 1
54 083600 VTR 2= H il fit -+ CRELUR 92. 2
55 083600 VTR 2= H il HiHAE S 71.06
56 083600 VTR 2= H il H A jaels 73.24
57 086000 W57 2= H il fit -+ WEE 66. 97
58 100700 7 2= H il fit -+ X1] [ 67.19
59 100700 7y 2= H il fit -+ 7K 67. 31
60 100700 7 2= H il fit -+ LD 67. 39
61 100700 7 4= H il fit -+ A g 67.74
62 100700 7 4= H il fiji 1 NG 67.78
63 100700 ks 4 [ il fisi -+ skl | 67.81
64 100700 7 2= H il fijl 1 FK IE 67. 81
65 100700 7% 2= H il fiji 1 2P 68

66 100700 7% 2= H il fiji 1 XI] & [t 68. 23
67 100700 2 4= H il fifi+: FAT 68. 36
68 100700 ik 4= H il fifi+: = 68. 61
69 100700 ks 4= H il fiji -+ WkegdE | 68.72
70 100700 2y 4= H il fifi+: Zs i 68. 98
71 100700 ks Eekil fiji -+ R 69. 82
72 100700 ks 4= H il fiji+ Rk 70. 94
73 100700 2y 4= H il fiji - S 82. 6
74 100700 2y 4= H il fiji IEWY 85

75 100700 25 4= H il fiji -+ 2L 87. 4
76 100700 25 4= H il fiji -+ FWE 90

77 100700 2y Esakil fiji BTN 90. 2




